Name _________________________________________________

Exam #1, Math 104, Autumn 2007

1. Solve.  Then draw a graph of the solution set on a number line, write the solution set in interval notation, and in set notation.
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2. Solve.  Write the solution in interval notation.  Use Ø for the empty set.
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3. Define two sets.  Let set A be the set of all letters in your first/given name.  Let set B be the set of all letters in your last/family name.
Set A:

Set B:

a. Find A∩B:

b. Find AUB:

4. Find the solution set and write in interval notation.  If the set(s) can be reduced, you must do so to receive full credit.
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5. Solve the following absolute value equation.  If you do this graphically, sketch the graph to show work.


[image: image4.wmf]1

8

2

3

-

=

-

-

x


6. Solve the following absolute value equation.  If you do this graphically, sketch the graph to show work.
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7. Solve the following absolute value inequality and write the solution set in interval notation.  If you do this graphically, sketch the graph to show work.
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8. Solve the following absolute value inequality and write the solution set in interval notation.  If you do this graphically, sketch the graph to show work.
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9. Graph the linear inequality in two variables and shade the solution set on the graph.
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10. Sketch the graph of the solution set to the linear inequality in two variables.  Be sure to indicate clearly which of the portions of the graph you intend to indicate the solution!
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Bonus: Solve the following compound linear inequality.  Write the solution set in interval notation.  The interval must be completely reduced and non-overlapping into order to receive full credit.  [Hint: separate into two parts and then recombine.]
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